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8. The products are 14n and 6k. The
coefficients are 14 and 6.
Rubric
1 point for each product; 1 point for
coefficients
_a. Terms: 7, 2y, and —8; Products:
7x% and 2y Coefficients 7 and 2
b. First, evaluate x*. Next, multiply 7 and
x*and multiply 2 and y. Finally, add
and subtract terms. The value of the
expression atx=2and y =1 is 18

©

a. 1 point for each sum

b. 1 point

c. 1 point for product; 1 point for
coefficient

d. 1 point

Sums: x+5,y+9,2+x y+23,and

(X+5)(y+9) +(2+X)(y +23)

Products: (x + 5)(y +9) and

(2+x)(y+23)

Factors: (x+5), (y+9), (2+),

and (y + 23)

Rubric

1 point for sums x + 5,y +9, 2 + x, and

y+23; 1 point for sum

(x+5)(y+9) + (2 +x)(y +23);

1 point for products; 1 point for factors
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6.EE.2b
SELECTED RESPONSE 3. Which expression is a quotient?
Select the correct answer. @ or
1. Which expression is the product of two ® L
factors? 2
@ 8(5+n) © 15+d
®2+h @ m-4
© % 4. Which is the coefficient in the expression
3 23y+5?
@t-9 ®y
2. In the expression n + 23, what is 237 ®5
(@B A coefficient © 23y
(B A factor @23
© Aterm
@ Asum
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Select the correct answer for each lettered part.
5. Identify each expression as a sum, a difference, a product, or a quotient.

a. 4t ©QSum © Difference Q Product © Quotient
b 6-u OSum O Difference O Product O Quotient
c f+10 ©OSum O Difference O Product © Quotient
d 27(v+3) ©Sum O Difference O Product © Quotient
e 42+k ©QSum © Difference Q Product © Quotient
£ i ©QSum Q Difference Q Product © Quotient
13
CONSTRUCTED RESPONSE

6. Wite the expression represented by the statement “7 times the sum of 2 and x.” Identify the
factors in the expression.

7. Identify two sums in the expression 14 + b + 27d. Identify the terms of each
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8. Identily each product in the expression
14n +2 + 6k and then identify the
coefficients in each product

9. a. Identity the terms of the expression
75 + 2y - 8. Identify which terms in
the expression are products and find
the coefficients in those products.

11. Use the expression 56xy+5—6){+%,

for the following questions.
a. Identify two sums.

b. Identify the terms of the expression.

c. Identify a product of two factors. Find
the coefficient in the product.

b. List the order of operations used to
evaluate the expression. What s the
value of the expression at x =2 and
y=-12

d. Identify the quotient.

12. Identify all sums, products, and factors in
the expression.

(X+5)(y+9)+(2+ X)(y +23)





image4.png
10. Lara says the factors of the expression
(5+s)(k+T)are5, s, k and 7. Is this
correct? If not, explain what Lara found
and write the correct factors.
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. The expression is 7(2 + x). The factors of
the expression are 7 and (2 +x).
Rubric
1 point for expression; 1 point for each
factor

w0 anoT® 0D O

=3
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_ Possible answer:
One sum is 14 + b, with terms 14 and b.
Another sum is b + 27d, with terms b and
27d.

Rubric
1 point for each sum; 1 point for each set
of terms

Rubric

a. 1 point for terms; 1 point for products;
1 point for coefficients

b. 1 point for order of operations; 1 point
for value of expression

No, this is not correct. Lara found the

terms of the two sums. The factors of the

product are (5 +s) and (k+7)

Rubric

1 point for answer; 2 points for explaining

the mistake; 1 point for each correct

factor

a. The two sums are 56xy + 5 and

Y
_ex+ L
X+ 55

The terms of the expression are 56xy,

o

5, -6x, and 2.
20

o

The product is —6x and the coefficient
is 6.

y
d. The tient is ——.
e quotientis 5

Rubric




